Student Exam No:
GANPAT UNIVERSITY
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2CEAD5/21T405; Database Management System- I1

Time: 3 Hoursj : otal 270
Instructions: : L 4
% Figures to the right indicate full marks.
2. Attempt each section in a separate answer book.
3. Be precise and to the point in your answer. &
SECTION:1

property of transaction.

[B] What is schedule? Discuss concurrent schedule with exampl 3]
OR
L A W hat is conflict and view serializable schedule? ossibi@rules to state given 9]
two instructions are conflicting and non conflictiag i ions. State the procedure
to find conflict serializable schedule. :
rg] Discuss how the database system deals wit failure and system failure 131
in shadow copy scheme. :
QQz [A] Define following terms (6]
1. Checkpoints
2. Location transpazgncy
3. Data base grap
4, Cascade less sch
5. Shared an
6. Lock cot
[B] Draw asimple sc access operation with read/write and input/output {5}
operations. Discuss eachlipperation in brief.
: OR
Q-2 [a] Discugs distfibuted database system. 6]

18] Write a c@mple tax {0 create data base trigger and explain the meaning of each  |5]
- keyword. :

i y mie‘mf following protocols [16]

o-phase locking protocol and its variants.

tiple granularity protocol.

ait wound scheme.

cuss how database system use database log file to maintain atomicity property 2]

“transaction.
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Q4 [A)
[B]
Q-4 [A]
[B]
[C]
Q5 [A]
[B]
Q-5 [A]
[B}
Q-6 [A]
iB]

SECTION-II

Write a PL/SQL code that check the price of product “PG01” is less than 4000, then {g)
change the price to 4000. The price change is to be recorded in the old price_ table
along with product no and the date on which the price was last changed.

Product_master: {product no, sell price}

Old_price_table : {product_no,date_chnaged,old_price}

Write a PL/SQL. code using cursor that determines the top 5 highest pgm om 6]
Employee table. Raise the salary of those highest paid employees by 3 nd store
those records in new table cailed Emp_Raise.

Employee: {Emp _ no Emp name, Emp_salary} &

Emp Raise: { Emp _no, Emp_Newsal, Inc_date}

OR
Write a PL/SQL code that enter two numeric values and
v_numl and v_num2. You need to arrange values so tha
value is always stored in v_num1, and the larger value is al

ariables [4]

ored in the v_num?2.

Explain the following terms: ‘ L 4 [4] {

a) Mesh  b) Hypercube
Differentiate Rollback and Rollback to save
Discuss basic steps to manage explicit curs

example. 14]
ne explicit cursor attribute. [6]

Explain Iterative Statements in PL/S Bl

Explain the following terms: 16
a) Shared Nothing  b) Hiera

Write PL/SQL code fogtheT 15}

User enter emp_no,nan L
define exception that salary is less than 8000
otherwise generate sa ip. ata for DA=60% of basic salary, HRA=
7.5% of Basic sala NA: NCTAX=1000, PT=100, PF=1000

Table:SALARY NO,BASIC SALARY HRA DAMAITCTAXPT
PF, GROSSS
@ - .
What 15 E dling? Explain types of exception Handling. {8]

ol
What is a N in PL/SQL? Also write syntax to create Procedure and explain each 4
keyword in detail.

L 4

~e-End of Paper----
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